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The phase mm@m gg(m mm% i phate Crgssop ﬁ%muj L ond amm CINSS s U
ﬁo,éwnw& aie obtoin by uSe of the Cmimod

[Gm, pm, wcp,wcgl =margin(sys) ;

A MITLAB program to Sohwe Hhis pm‘vle»m S ven belew . The Bode d\aﬁrw Shawain

bulaw verifes Ttre V\&% wm\@r\ N mr%m ) phase CeSawed ‘F@ENN)@ 8ma CIRSE s\eg
vhtoined v\n’t\'\
0 20 2071;
den conv([1l 2 10 01,[1 51)
sys=tf (num, den) ;
w=logspace(-1,2,100);
bode(sys,w) ;
grid;
[Gm, pm,wcp, wegl =margin (sys) ;
GmdB=20*1o0gl0 (Gm) ;
[Gm, pm, wep, weg]

ans =

9.9301 103.6573 4.0132 0.4426
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